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Instructions : All questions are compulsory.

(if) W %% 1 R 5 9 sAfderggeia v & | 9% YR W 1 37 e ¥
T 1 IW 7 VI Y41 7 9 ® )
Question Nos. 1 to 5 are very short answer type questions. Each
question carries | mark. Answer should be given in [ word or /
sentence.

(i) T T 6 Q10 T Wl U W 2 37 aifen ¥ 1 (Vw30 )
Question Nos, 6 to 10 carry 2 marks each. (Word-limit 30 words)

(1v) S WIS 11 R 22 7 W W WX 3 3t ot € ) (- 50v=R)
Question Nos. 11 to 22 carry 3 marks each, (Word-limit 50 words)

(v) T I 23 W4 30 ST § 1 (wree-wim 70 v
Question No. 23 carries 4 marks. (Word-limit 70 words)

(vi) W WRI% 24 | 26 7 TIE T W S stw smifw € (v
100 1) '
Question Nos. 24 to 26 carry 5 marks each. (Word-limit /00 words)

(vii) el st 1, el @@= ¥ it fax wnd
Draw clean and labelled diagram wherever necessary.
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Write dispersed phase and dispersion medium of dust.
e sfufie quf Fife .
CH,CH,oH - H280s |
L 0H 7y
Complete the following reaction :

CH,CH,0H 52394,

CH3;COOH %1 TUPAC 7™ = 2
What is the [IUPAC name of CH;COOH?

qE FEiEESe fEd >C = O (%o wg) wran s &, 39 w1 Fd ¥ 2

(1]

(1]

(1]

(]

What is known by the carbohydrate in which >C = O (keto group) is found?

Frefafan w1 37% w5 g aReE oo % w9 o fafew -
C,HgNH,, (C,Hs),NH, (C,Hs 1N, CGHQNHZ

Write the following in increasing order of basic strength :
C,HsNH,, (C;Hg),NH, (C,Hg)3N, CgHNH,

2.46 T NaOH (3nftass 5899 = 40) ®1 100 cm> a1 & fadry fear

41 | 39 faerga wi Hiera | )

2.46 gm of NaOH (molecular mass = 40) is dissolved in 100 cm? of
water. Calculate the molarity of this solution.

T Wl #1 AT I Tg I A}, w2

Why is the ionisation energy of ideal gases too high?

foetas @il mufivs Tl & vaet orda ¢, & ?

Why is the secondary amine more basic than primary amine?

I Torien femd s ¥ ? swen g fafa)

What is Temperature Co-efficient? Write its formula.

[1]

(2]

2]

(2]

[1+1=2]
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§E-10 AR Ffvfypar B FAEd | 2
Explain Sandmeyer reaction.
# RNA &
-1 FfeER § g 9 A fafi Al TAARY | 5

q¥A-12

T -13

-4

Explain different types of RNA found in the cell.

Explain bleaching property of chlorine with chemical equation.

(31

164 TE & awal & FreAfafaa o S e S [1%+]1%=3]

Explain the following properties of elements of 16th Group :

(@) Oxidation state

(b) Electron affinity

fe difire % IUPAC M fofa : [1+1+1=3)
(37) Nay[Pt{(CN),]

(@) [Ni(CN)4)*

(@) [Co(NH;)5CO4]CI

Write the IUPAC names of the following compounds :

(@) Nay[PHCN),]

(6) [Ni(CN),J%

(¢) [Co(NH3)sCO4|ClI

fegier & S & o9 e waed 2 T & W @ wney ) (142=3]

What do you mean by depression in freezing point? Explain with the
help of graph.

M-35C

" I | PTO.



uwm-16 frofafem o8 =) aawng : {31
(3 =W
(¥ 3Mwmy

Explain the following terms -

(@) Ketal

(b)) Oxime

W-17 T R A arfuie ¥ fg oo Rerd® 1SS S g 3)
Derive an expression of rate constant for zero-order reaction.
av-18 frefafaa W feafos fafa : [1%+1%=3]
(3 WA Afa (Fax 7] & ¥)
() g FATS
Write notes on the following :

(@) Brownian movement (diagram is not required)

(b) Multimolecular colloid

w-19  frdoers sfvfirg 6 e § 2 woitew fafae) [1+1+1=3]
What is Finkelstein reaction? Write equation.

w20 Frefefen sfufdmall 4 4, 5o 7 TEEIT (1+1+1=3]

Sieitg KOH
C,H,0H '}%‘:’; 4 SFHL g =

ldentify 4, B and C in the following reactions

C,H,OH H,80, Con. Hl_, gAY KOH | -~

.-..___________*A

413K
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(%) e qfe

(@) diget T

Explain the following :

(a) Frenkel defect

(b) Schottky defect

M e

(5]

CoIELE

C
2H5OH, CeHsCH,0H, C4H5OH
Arrange th, ., )
g€ the following in Increasing order of their solubility in water

gIVINg reasons

C

PN F T T e Qe w9 s v O & 1w

Ketones have higher boiling points than corresponding isomer

aldehydes. Why? https://www.cgboardonline.com

= &) wHEE

(37 3:¥f5@ g

(&) woAR-Hi=d w7
Explain the following :
(a) Body-centered cubic

(b) Face-centered cubic

[1+2=3]

(3]

[2+2=4]
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(&) Cu' st Cu'? twwmmmﬁfmaﬁfﬁﬁ
¥ afirw AR § [243=5]

(@) What are Transition Elements? Write their general electrofic
configuration.

\b} ‘\‘v.]th Ihl: h(‘lp ()f Clectmn“; C()nﬁgurﬁli(m.‘i of‘ Cu" .l}d Cu+2
explain which one is more paramagnetic.

sreraT
OR
(37 AAes T ¥ 2 I gog FON H w2 Tumw)

(F) FetlaFet3 & woagife o foed gu arue fs 5 § @ &
3y srqg=Ha T

(a) What are Lanthanides? Why is it difficult to separate them? Explain.

(b) With the help of electronic configurations of Fe'? and Fe*3

explain which one is more paramagnetic?

w-25 (37 $UR F fawga-srqed & yuw faw d@ R ?

(%) frofafaa § @ yae ¥ fog faga-3T9eT ¥ 9ra T8 qamsy .
(i) foem wEREl % gy AgNO, F1 5 faer
i) Afem @ % wy uzst)ﬁ!ﬂﬂﬁw [1+2+2=5]
(a)  What is the Faraday’s first law of electrolysis?
(6) Predict the products m-clecm,[ysis in each of the tollowing :
() An aqueous solution of ABNV3 with silver electrodes

(il) A dilute solution of 11,504 With platinum electrodes
M-35C
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Foree-Trafrs 7 & 2 e 1 P v v g 2 s
ferfa
What is Electrochemical Series? Writ¢ Kohlrausch law with its two

applications.

W-26  firer ) wAwRT (e et geEr ) - [1+1+1+]1+1=5)
(3 &% afufien

(%) s §eH

(®) $fem arfufiran
(7) MEwH-Te Afufwm
(¥) wiEa-wrweg sfufera

Explain the following (write only chemical equation) :
(a) Stephen’s reaction
(b) Aldol condensation
(¢) Canmizzaro reaction
(d) Gattermann-Koch reaction
(e) Frnedel-Crafts reaction
3rerar
OR

H1 g ¢, @ (Fae TEEr getw fafa) 2—
( 37) wreifaafers 3 #1 fan Qoaerel © &1 St 3
(%) Teiefezemse & srywaa fid SATVHC] %t sqfefy o g 2
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(9) 2, wife FATE ¥ wry CS2 &} sufeefa A fF T §

(E’)Eﬁﬁﬁ'ﬂ?maﬁmNa%ﬂﬁﬂ%

(%) TEIEM W NaOH 3R 1, 3 frm #T8 <l &

What happens when (write only chemical equation)?-
(@) Carboxylic acid reacts with alcohol

(b) The reduction of acetaldehyde occurs in the presence of zinc

amalgam/HClI

(c) Toluene reacts with chromyl chloride in the presence of CS,
(d) Acetic acid reacts with Na metal

{(e¢) NaOH and I2 react with acetone
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